
От электDо==ых Eи7аDет путе6ка пDя<о =а тот E6ет. 
�оEлед=8е д64 7од4 толPко 8 D477о6оDо6, Gто о «<од=о9 5оле7=8». �D8 Qто< 7о6оDOI89 G4Iе 
6Eе7о подD47у<е64ет ко68д. Од=4ко пD8<еD=о 6 од=о 6Dе<O E =8< 6 <8Dе поO68лEO еIU од8=, 
D4=ее =е 876еEт=O9 Gело6еGеEт6у, д847=о7.  
О= 6о7=8к4ет 87-74 <од=о9 пD86OGк8. � е7о 7л46=о9 FелPN т4к6е O6лONтEO лU7к8е Gело6ек4.  
�<O е<у EVALI. �л8, еEл8 D4EH8DDо64тP Qту 455Dе684туDу, по6Dе6де=8е оD74=87<4, E6O74==ое E 
употDе5ле=8е< QлектDо==OE E874Dет (e-cigarette or vaping product use associated lung injury).  

ОD8F84лP=о к4к отделP=ое 745оле64=8е о=о 5Oло 74Dе78EтD8Dо64=о !(� д64 7од4 =474д, поEле 
то7о, к4к 6 EтD4=е 5Oло 74D8кE8Dо64=о ED47у =еEколPк8E E<еDтелP=OE EлуG4е6 87-74 куDе=8O 
6е9по6.  
' =4E, 6  оEE88, т4ко9 д847=о7 6пеD6Oе 5Oл поEт46ле= 6 8N=е Qто7о 7од4: 17-лет=89 подDоEток 
поEтуп8л 6 �оDо7о6EкуN 5олP=8Fу E E8<пто<4<8 тO6Uло9 п=е6<о=88 8 о5Iе9 8=токE8к4F88. �4 
д6е =едел8 до 7оEп8т4л874F88 у =е7о Eт4л8 =4D4Eт4тP одOHк4 8 к4HелP, по6OHе=8е те<пеD4туDO, 
D6от4 8 5олP 6 686оте. �4 пол<еEOF4 о= поEудел =4 10 к8ло7D4<<о6!  
К4к 6поEледEт688 5Oло уEт4=о6ле=о, D4768т8е т4ко7о EоEтоO=8O 6O764ло то, Gто 1,5 <еEOF4 N=оH4 
4кт86=о «E<ол8л» 6е9пO, 8 =4 <о<е=т 7оEп8т4л874F88 е7о ле7к8е 74купоD8л4 <4EлO=4O пле=к4 от 
куD8телP=о9 6868&  
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�е т4к д46=о =4уG=O9 6уD=4л Radiology опу5л8ко64л Dе7улPт4тO 8EEледо64=8O E дет4лP=O< 
4=4л87о<Dото7D4D89 лU7к8E подDоEтко6, котоDOе у6лек4NтEO куD8телP=O<8 E<еEO<8. К4к 
пок474л4 Dе=т7е=о7D4D8O 8 К& 7Dуд=о9 клетк8, 8E оD74=O 5Oл8 EеDPе7=о по6Dе6де=O 
8Eп4Dе=8O<8 QлектDо==OE E874Dет. � 6 =86=е9 G4Eт8 лU7к8E пDоO68л8EP E4D4ктеD=Oе те<=Oе 
о5D47о64=8O окDу7ло9 DоD<O, по E6ое9 EтDуктуDе поEо68е =4 те, ко7д4 D476864етEO п=е6<о=8O. 
�D8 Qто< о5олоGк4 ле7к8E деDоD<8Dо64л4EP, 5удто 5Oл EеDPе7=O9 уH85.  
�EEледо64=8е 74к4=G864етEO Dе7N<е: «�о6Dе6де=8е ле7к8E, E6O74==ое E употDе5ле=8е< 
QлектDо==OE E874Dет (EVALI), пDедEт46лOет Eо5о9 EеDPе7=уN пDо5ле<у длO о5IеEт6е==о7о 
7дD46ооED4=е=8O, 6O7O64O 7=4G8телP=уN 745оле64е<оEтP 8 E<еDт=оEтP, оEо5е==о EDед8 <олодOE 
лNде9».  
Кл8=8GеEк4O к4Dт8=4 пD8 д4==о< 745оле64=88 <о6ет E8лP=о D47л8G4тPEO у теE 8л8 8=OE 
п4F8е=то6 (EкоDее 6Eе7о, Qто E6O74=о Eте<, Gто D47=Oе 68дкоEт8 длO 6е9по6 EодеD64т D47=Oе 
E8<8GеEк8е 6еIеEт64), те< =е <е=ее, еEтP о5I8е E8<пто<O, E4D4ктеD=Oе EVALI:  
- �о6OHе=8е те<пеD4туDO, о7=о5 8 Dе7к4O потеDO 6 6еEе от<еG4NтEO у 85% 745оле6H8E. 
 - ОдOHк4, уEт4лоEтP, 5ол8 6 7Dуд8, к4HелP –у 95%.  

- �DоO6ле=8е 5оле7=8 6елудоG=о-к8HеG=о7о тD4кт4 (D6от4, д84DеO, E8лP=Oе 5ол8 6 686оте) 
5O64Nт у 77% п4F8е=то6.  
- &4E8к4Dд8O (уG4Iе==ое EеDдFе58е=8е) - 5олPHе, Gе< у поло68=O 5олP=OE, 55%.  
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�Dо876од8тел8 QлектDо==OE уEтDо9Eт6 у6еDONт, Gто 6=утD8 т4к8E E874Dет 5е76Dед=ое 6еIеEт6о, 
GутP л8 =е G8EтO9 6одO=о9 п4D, од=4ко �Eе<8D=4O оD74=874F8O 7дD46ооED4=е=8O =4 Qтот EGет 
8<еет Eо6еDHе==о пDот86ополо6=ое <=е=8е. � докл4де «О5 QлектDо==OE E8Eте<4E доEт46к8 
=8кот8=4» �О� Eоо5I4етEO, Gто «4QDо7олP 1!�� (QлектDо==Oе E8Eте<O доEт46к8 =8кот8=4) =е 
O6лOетEO 6Eе7о л8HP «6одO=O< п4Dо<», к4к Qто G4Eто ут6еD6д4етEO».  
1кEпеDтO уEт4=о68л8, Gто оE=о6=O<8 ко<по=е=т4<8 D4Eт6оD4, по<8<о =8кот8=4, O6лONтEO  
- пDоп8ле=7л8колP,  
- 7л8FеD8=,  
- 4Dо<4т878DуNI8е 6еIеEт64,  
- DоD<4лPде78д, - 



 дDу78е, 6O7O64NI8е D4к, 6еIеEт64.  
ОD8F84лP=о к4к отделP=ое 745оле64=8е о=о 5Oло 74Dе78EтD8Dо64=о !(� д64 7од4 =474д, поEле 
то7о, к4к 6 EтD4=е 5Oло 74D8кE8Dо64=о ED47у =еEколPк8E E<еDтелP=OE EлуG4е6 87-74 куDе=8O 
6е9по6.  
�октоD 58оло78GеEк8E =4ук ОлP74 !уEо6Eк4O, Dуко6од8телP Ко=EулPт4т86=о7о телеDо==о7о Fе=тD4 
по<оI8 6 отк47е от потDе5ле=8O т454к4, D4=ее подт6еDд8л4 коDDеEпо=де=ту «Ко<Eо<олPEко9 
пD46дO», Gто 6 EоEт46 куD8телP=OE E<еEе9 6EодOт к4=FеDо7е==Oе 6еIеEт64. � G4Eто 8 =8кот8=, тот 
E4<O9, от 7468E8<оEт8 к котоDо<у 8 пOт4NтEO 875468тPEO куD8лPI8к8, пеDеEодO E о5OG=OE 
E874Dет =4 6е9пO.  
�едуI89 EпеF84л8Eт �оEуд4DEт6е==о7о =4уG=о-8EEледо64телPEко7о Fе=тD4 пDоD8л4кт8GеEко9 
<ед8F8=O �8=7дD464  $ �4D8=Q �4<54DO= 6 8=теD6PN E коDDеEпо=де=то< «Ко<Eо<олPEко9 
пD46дO» подт6еDд8л4: пD8Dод=O9 т454G=O9 =8кот8= 6 6е9п4E 74<е=е= =4 E8<8GеEк89, 4 Qто еIе 
6Dед=ее.  
�4пD8<еD, EулPD4т =8кот8=4, котоDO9 D4=PHе 8EполP7о64л8 6 к4GеEт6е пеEт8F8до6 длO 
у=8Gто6е=8O =4Eеко<OE, 4 пото< 8 6о6Eе 74пDет8л8 87-74 8E 6OEоко9 токE8G=оEт8. � лNд8, 
полуG4етEO, 74тO7864NтEO 4=4ло74<8 пеEт8F8до6!  
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�4по<=8<, E6ое HеEт68е по <8Dу 6е9пO =4G4л8 6 =4G4ле 2000-E 7одо6 6 к4GеEт6е Oко5O 
5е7оп4E=о9 4лPтеD=4т86O о5OG=O< E874Dет4<. �  оEE88 о=8 Eт4л8 оEо5е==о популOD=O поEле 
66еде=8O 6 2013 7оду 4=т8т454G=о7о 74ко=4.  
&о7д4 пDо EVALI еIе =8кто =е ду<4л. �о пеD6Oе «76о=оGк8», =4<ек4NI8е =4 то, Gто QлектDо==Oе 
E874DетO д4леко =е т4к 5е7оп4E=O, у6е поO68л8EP. �4пD8<еD, 6 D47=OE EтD4=4E 5Oло 
74D8кE8Dо64=о =еEколPко EлуG4е6, ко7д4 6е9п 67DO64лEO 6о Dту куDOIе7о. �Oл8 т4к8е 8=F8де=тO 
8 6  оEE88.  
�4пD8<еD, п4Dу лет =474д 6 ту 6е �оDо7о6EкуN детEкуN 5олP=8Fу доEт468л8 HколP=8к4, у =е7о 6о 
Dту 5Oло EплоH=ое кDо646ое <еE86о - D64=у6H89 6е9п D476оDот8л <4лPG8ку GелNEт8, 7у5O, 7у5O, 
8 то7д4 E8DуD78 еле Eп4Eл8 е<у 687=P.  
1лектDо==Oе E874DетO 6оо5Iе 5олPHе покуп4Nт <олодOе - к4к <од=O9 74д6ет. �л8 к4к EпоEо5 
покD4Eо64тPEO пеDед E6еDEт=8к4<8. � 8=о7д4 пDоEто к4к 4лPтеD=4т86у =4EтоOIе<у куDе6у. !G8т4O, 
Gто т4к8е E874DетO 5е7оп4E=O, о=8 куDOт 8E =о=-Eтоп. � е6ед=е6=о по6OH4Nт D8Eк D4768т8O 
5оле7=е9 ле7к8E, 4Eт<O, D4к4.  
«�4 пOтP лет потDе5ле=8е 4<еD8к4=Eк8<8 подDоEтк4<8 QлектDо==OE E874Dет 6ODоEло 6 10 D47. � 
74 поEлед=8е =еEколPко лет Dе7ко 6о7DоEло кол8GеEт6о 5олP=8G=OE, котоDOе куD8лPI8к8 6е9по6 
5D4л8 6 Hколе по пD8G8=е пDо5ле< E 5Dо=E4<8 8 ле7к8<8», - 58л тDе6о7у GетODе 7од4 =474д 
д8DектоD &е=тD4 8EEледо64=8O т454к4 К4л8DоD=89Eко7о у=86еDE8тет4 пDоDеEEоD !те=то= �л4=F. 
! теE поD пDо5ле<4 толPко D47DоEл4EP. � 6от тепеDP Eо6Dе<е==4O <ед8F8=4 6O=у6де=4 5Oл4 
пD87=4тP поO6ле=8е =о6о7о 745оле64=8O под =4764=8е< EVALI.  

�� ����&К' 

1лектDо==Oе E874DетO 6DедOт оD74=87<у =4 клетоG=о< уDо6=е.  
О5 Qто< 6 пDоHло< 7оду Eоо5I8л8 8EEледо64тел8 87 '=86еDE8тет4 !е6еD=о9 К4Dол8=O =4 
<е6ду=4Dод=о9 ко=DеDе=F88 Ле7оG=о7о Eоо5IеEт64 !(�. О=8 пDо6ел8 8EEледо64=8е, 6 Eоде 
котоDо7о уEт4=о68л8, Gто 6Eе 4Dо<4т874тоDO, котоDO<8 =4пол=ONт QлектDо==Oе 74д6етO, 
пDо=8к4Nт 6 ле7к8е Gело6ек4 8 6л8ONт =4 =8E, пD8Gе< =е по6еDE=оEт=о, 4 =4 E4<о< 7лу5око<, 
клетоG=о<, уDо6=е. � Gе< долPHе 6 ле7к8E 74деD6864етEO п4D от 6е9по6, те< <4EHт45=ее 
Eт4=о68тEO 6Dед. 


